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M E JRIE
6- s 1% 7 25 B i S0 7] {1k 6PG 1 NADP*E By 6 i % % %) B% 2 #1 NADPH, NADPH 7£
1-mPMS /EH N # WST-8 B, 7F 450 nm FIEWOBIE

FEEFRMEFA -
BRI B REOHL. TR, 96 JLIL. hEk. UK. MK,
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PEEUK: AR 60 mLx1 #i, 4°CLRAE;

RA—: WAL 12mLx1 #, 4CLHRLAE;

WA= A<, 20 CHRAE

WA= Wik 1.5mLx1 &, 4 CEOGIRLE.

6PG 12 HY :

1. SHE s R4 oIS o B A PR B 2 0 i, B0 a3 B3GR s e 2 s
(1044« FRBURAAR (mL) 4 500~1000: 1 BELG] (Y 500 J5 20 B s 40 i bn N 1mL
PEGRD , B AR (UKIE, T 20% 8% 200W, 8  3s, A& 10s, FE 30 %K), 8000g,
25°C B0 10min, BX_EiEARM .

2. A HWBHASTE () « REBAR (ML) N 1: 5~10 BIELE] CEUFRENZ) 0.1g 4147,
TN ImL 32BURD , #EATUKIBAI2E, 8000g, 25°C .0 10min, HX &R,

3. MG CRO SR BHEENE .

MELER:

1. EEFRAXCTA 30min BA L, A5 K 2 450nm.

2 B R A RTINN 3mL KRR, A SRR 73 2 )5 -20 C IR A7
3. LARMREIECH]: e RTHIERE AR KE, 3= DT EeBImC i) TAER

WAL (ul) e TAER X FE T AE R
WA — 100 100
15 1)1 50
7K 50
EEmESWARAR
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4. FEASHIE
1% RAE 96 LR AL 1R

WAL (ul) e PaiGR=g
FEA 50 50
M 5E TR 150
o HE AR 150

37°CHEYEIEE 30min, 450nm FIEWOLE A MES A M, AA=A ME-A SR, &AM
EE B N IR .

6PG R EITH:

1 ARV S AE T E (B A 5 FE N y = 3.8589x - 0.0016, R2=0.997; x N 6PG & & ( 1 mol/mL),

y AWOGE -

2. mRIMmE G ABHE

6PG & (nmol/mL) = [(AA+0.0016)+3.8589xV1]+V1x1000

=259.1x(AA+0.0016)

3. MEEIKREITE

6PG & & (nmol/mg prot) = [(AA+0.0016)+3.8589xV1]+(V1xCpr)x1000
=259.1x(AA+0.0016) ~Cpr

4, MR EITE

6PG & (nmol/g 5 ) = [(AA+0.0016)+3.8589xV1]+=(W xV1+V2) x1000
=259.1x(AA+0.0016) ~W

3. F HEGH TR B 5 A

6PG & (nmol/10% cell) = [(AA+0.0016)+3.8589xV1]+ (500xV1+V2) x1000

=0.518x(AA+0.0016)
VI: IIARBAERFFEAARE, 0.05mL; V2: MAFREUBAAR, 1mL; Cpr: FEAREAN
WEE, mgmL; W: FEAE, g: 500: ZHp B4 M4, 500 /3; 1000, b mol £ nmol
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